Jta;rgl_n’ {2 o -

l | -
C E‘!}d‘fﬁrﬂ, :‘ o 'L:,_J ;';"k) i‘:ﬂk Do B AN o

@ IrED = =3
|
1 ® EDr 20 = —2ac
\ @ (—2) #(=30) - + 630 fiu-i (

@ Faw) xE&) . 4316
©® “6)xox(=® = 0
l © (=) S __190) = ) x(=no)

= 4 (32D
@' A% (=3) X6 %+ - 4
= a3) xE6) ¥
18 et e
d f!GJ —— =%

@ (-12) l(:S') xE=y)
- (+90) S
— 260

Gy ) 1(-2) *E 1) A Y
| - (FrENn)




.'EZJMQQ*&?)mH) |'

G 8) % (r2)

- =+ 36

- = of ot
& Ao & r-‘:»";z' dﬁﬁfg 8.
LV =

o 3% B *ea] - UR%3) + (irses)]

12 % LH-3) = 16 4(oy)

+v.
B
-:tl: = =2
Ao &,

B B0 x Do+ ] = e n ud) « e )

) (H10) = (+2u)+ (+128)

126
&4
‘*’E‘;‘P - &_10 210
S a9R.
M .

L P s ar, E0ra oxzaf
i,;\;} | )
51)19_: —a V) 3= =3

R od da




L;rl 1) ﬁw Hicies Mo g _-..-iwi_y o oo " -
"y  Snera

@. E:I 3 X ‘..:'T‘._ - -9
(_Gq (=) ¥ ';;.1 = 13
e 0
& ) o o

@L (:'13‘! S Gl @U‘D*ﬁi! (1) 2 tl): I ‘f;::r*'t": .

-
-

LT T W "U’“"“L"k#; Wl

~)rs - -§ |
(—-1"1 4 = -4 = "‘5‘1'1
G“) 18 & =) & =W¥
(~H*3 = =3 : -3

| =NV = -} = 2%
. c =14
) o = ©

' = O¥
(.-15"“;-!'): |




